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(a) RBRMIETHEDS -
(b) HESHEEE RBREK FEA [fFEER FEE] - 155 r1001 » B xoox

(c) HEEEEER  BYE TERES,

(d) ETEH " Console ) ERRAMTBRRER - REKIIEER
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(f) 2B fE "B T R-exan-extra.txt - (BRBHE - MAED)
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(h) BEESBHE (B2 RULE) BERBBEM "2, "3, fl0: "B E-R-oxan-

extra-2.txt ) F5F o
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1. EXES:
(a) 147101316 19
() 1,-3 55" 153

2. BEURAUMES - BIENEERIAT 5 £ - KB 5 2L, BRRE (ML) ERE—88 (L) 2585
8 RWERMH - &RE - FFE X ° (http://www.hmwu.idv.tw/web/R/data/)
(a) R-score.xlsx
(b) 20140714-weather.txt

(c) weather_delaysi4.csv

3. "statlog_vehicle_846x18. txtJ ZL tab BoRWVER - BB 18 L8 - 558 A R Z1E& - 5l
LEEREHE  BIES 5 ELEABFLHEREDHMIEAENGKEE - (RIGERERMA: https://
archive.ics.uci.edu/ml/datasets/Statlog+ (Vehicle+Silhouettes)) ° )

4. EHEABE 2018 FRREBHELCHREATER BRI 10 20T

Dates: 0924, 1112, 1231, 1105, 0604, 0219, 0416, 0611, 0813, 1029

Time: 01:00, 04:00, 16:00, 23:00, 08:00, 09:00, 07:00, 17:00, 03:00, 14:00
Items: shirt, shirt, pants, jacket, jacket, shirt, jacket, jacket, shoes, shirt
Volume: 7951, 159,1958, 6848, 3762, 3673, 8696, 9045, 6208, 1425

(a) B LB RETFR —ERAE (data. frame) BRIZMH - 85 nySale - FEE—EENLSH
EHEARSE (DateTime) - 854 POSIXct, BERAERHRERE (UTC); £ _EBWUSHEM
I8 (Ttems), RIS factor; E=EWMNUSEHES (Volume), $25I%5 numeric ° EJH mySale °

(b) AERD  +5 (8) TENHERERN SEKEEBRS D

5. B—IE4 7 5% (ID) KAl (student . gender) EAM T - EH/NEMAL: A& (score.calculus)
KFE (score.english) - &M T - EPB-—fIFEHE -

set.seed(12345)

ID <- paste("No.", 1:50, sep="")

score.calculus <- sample(0:100, 50, replace=T)

score.english <- sample(0:100, 50, replace=T)

student.gender <- as.factor(sample(c("f", "m"), 50, replace=T))
absence.id <- sample(1:50, 3)

score.calculus[absence.id] <- score.english[absence.id] <- NA
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S @-9w -9
Vi (@i = 22/ 300 (yi — §)?

AETEMED REX M E Z HGRE - W cor ZARMELE - (JB/R: sqrt, sum, mean)
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